
NORDEN 901 2022 <2022><EU><F2803V1>
LIGHTING SYSTEM

58018

Pos Part Number Description Additional Text Quantity

1 22114001000 LED headlight 1.00

2 21014026100 Turn signal ECE front right/ r 2.00

3 21014025100 Turn signal ECE, front left/ r 2.00

4 60314047000 license plate lighting 1.00

5 21014040000 Rear Light 1.00

6 22114038000 Fog lights 2.00

7 22114008050 Adapter, supplementary headlig 1.00

8 22114007050 Adapter, supplementary headlig 1.00

9 22114033000 Turn signal adapter right 1.00

10 22114032000 Turn signal adapter left 1.00

11 0800001000400 Bushing indicator EU 4.00

12 58414030000 HH COLLAR NUT M10X1,25 WS=13 MINI ADV. 4.00

13 0081050121 EJOT PT screw K50x12 only for US and SixDays 2.00

14 0738010400800 Oval-head screw ISR M4x8-A2-07 4.00

15 60414007030 INSERT FOR HEADLIGHT ENTRY 2.00

16 69014017000S special screw M6x18-8.8 ISA30 2.00

17 22114001020 Adapter, headlight 1.00



18 0025060166S HH collar screw M6x16 TX30 SL 1.00

19 83008100015 Special screw M6x15x5.5 1.00

20 60408061150 rubber washer 6.5x17x2 mm 2.00

21 60408061160 QUICKLOCK D=6 2.00

22 60414007125 ADJUSTING SCREW CURVE LIGHT 2.00

23 69008021160 special screw M5x12 4.00

24 0025060166S HH collar screw M6x16 TX30 SL 2.00


